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Arithmetic SSC Special Practice Set-I11

A 456-litre mixture of milk and water contains
milk and water in the ratio of 7 : 5. How much
milk is to be added to the mixture to get a new
mixture of milk and water in the ratio of 9 : 5?
456 Tito Thrsror ¥ g&r e Tt T 31Ut 7: 5 | fasgror o
feram wito e firerrer s fos 72t fargror & ger o it o
AT 9: 5 & W)
(a) 80 litres

(c) 76 litres

(e) 77 litres

An amount of Rs. 9800 is lent at a certain rate of
interest. After 66 months, an additional amount
of Rs. 5700 is lent at a rate 3.5 times higher than
the former. At the end of nine years Rs. 11061.75
is earned as interest on both the loans. What was
the original rate of interest?

. 9800 ek fHf¥era o¥ Su fa&r 1| & & Al o Swo=
. 5700 SuR fe&r <t 3.5 70T 31feres o Uge o W) ga
% A W ®. 11061.75 ST G141 KN T WG 2rT &1 At
e s g¥ feRert )

(a) 65% (b) 7% (©)7.5% (d) 8% (e)14%
Two stations A and B are 462 km apart. A train
leaves Station A for Station B and at the same
time another train leaves Station B for Station
A. Both trains meet 5.5 hours after they start
moving. If the train that starts from Station A is
28 km/hr faster than the other one, what is the
ratio of the speeds of both the trains?

A T Bt Ry o sitel it o 462 foRl. 31 TR 3T A
¥ B % foru Frarerdt 81 Aen ST GRA qEA ST B A A S
ot Frremerell €1 Sl 291 5.5 EU2Y oh STe (WRFt9eh T &
) et §1 o & oom G 3w At 28km/ b
ST €1 AL S et STl ST STUT SR § |

(a)3:2 b)2:5 (©2:1 (d)4:3()5:3
A sum was put at a certain rate of interest for
five years. Had it been put at a rate of interest
5% higher than the previous rate of interest it
would have fetched Rs. 72.5 more. What is the
sum?

ek & ol HTYeId ST ot G 5 981 ok forg foan smar
%1 afe 3| o qut s Rt A 5% 3tferek o feam s
TE €9 72.50 . ITferk A ST A 9E & AT &

(a) Rs. 290 (b) Rs. 280 (c) Rs. 295 (d) Rs. 390

(e) Rs. 380

Rajeev and Rakesh can do a piece of work in 28

(b) 86 litres
(d) 75 litres

days. Rajeev is % times as efficient as Rakesh. In

how many days can Rajeev alone finish the
work?

T(SHE AT kT Teh ohi¥ AT 2 ot § o Tehd 21 i,
maﬁaﬁmzwﬁlmmwmaﬁmﬁ

et o T S TeRaT B

(a) 77 (b) 55 (c) 33 (d) 40 (e) 44
The area of a square is 1764 square metres. The
breadth of a rectangle is one-fourth the side of
the square and the length of the rectangle is five
times its breadth. What is the difference
between the area of the square and that of the
rectangle?

Teh a1 AT &5 1764 TEIHIET & AT T =i o ot
TSI St Ueh STATE ¢ AT 3T ki TS STehT TISTE ohi
5 T &1 61 3T 9 o % SRl ST STUT T B

(a) 12836875 sq metres (b) 1383.6575 sq metres

(c) 1273.75 sq metres (d) 1293.25 sq metres
(e)1212.75 sq metres

The fare of a bus is Rs. y for the first seven
kilometres and Rs. 17 per kilometre thereafter.
If a passenger pays Rs. 3311 for a journey of 199
kilometres, what is the value of y?

Teh 99 ohT YW 7 TeRtit, ot foRtran . y &1 e SHeh a1
17 wfer feit. 31 afe wer ot 199 T, w6t o & fog
. 3311 THTAT & T y T T AT &
(a) Rs.43 (b)Rs.45  (c) Rs. 47
(e) None of these

Govind scored 94 marks in Subject X. He scored
76% marks in Subject Y and M marks in Subject
Z. The maximum marks in each subject was 175.
The overall percentage marks obtained by
Govind in all three subjects together was 56%.
How many marks did he score in Subject Z?
mia< T « fawer o 94 3tek yra forar 3@ y fao=r o 76%
37eh W feRT eIt 2 faoer o m 3k Wt T | wedies fearerar
T Ifercham 3ich 175 | Tt A1 fawat | Mifag ¥ 50%
37ek Ut TRt 3R 2 faue o ferem sies wrw ferm)
(a) 66 (b) 68 (c) 69 d71  (e)67
A person can raw 13 kmph in still water. If he
takes thrice as much time to row upstream as to
row downstream in a river, what is the speed of
the stream?

ek Sfth 9Tid et | 13 kmh 1 <t § AT §1 IS o8
T o YaTE okt Teomm o i A1 w0 o o faudia faem
B A H ST § 1 A R SR et o §

(a) 4 kmph (b) 5 kmph (¢) 6 kmph (d) 6.5 kmph

(d) Rs. 46
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10.

(e) 7.5 kmph

A shopkeeper sells an item at a profit of 17%. If
he reduces the price of the item by Rs. 210, he
makes a loss of 13%. What is the cost price of the
item?

Teh GRTER 17% TN WX Ueh WATT Tl Sl §1 AfS 98
HHTT T o . 210 T AT § F SH 13% i &I Bt
B\ A W HHM 1 RIS A ¥ |

(a)Rs. 700 (b)Rs. 720 (c)Rs. 710 (d) Rs. 790

(e) Rs. 600

Directions (Q. 11-15): Study the information given in each of
these questions to answer the questions.

11,

12.

13.

Per cent profit earned by a company over the
years:
HWT o GRT % T TOf B SHATAT T4T-

50

1999 2000 2001

YEAR
In which year is the profit amount the highest?
fore e & A1 T Seerew £
(a) 2001 (b) 2000 (c) 2002
(d) Cannot be determined (e) None of these
What is the approximate percentage of the
literate out of the total population?

T TAUEAT T T feha % forfera €

2002

245
Million
(Hliterate),

(a) 69 (b) 76 (c) 41 (d)22 (e) 34
Infant Mortality Rate
—&— Rural —3—Total —&— Urban
Mgy =
90
2
S 80
70 4——
60 1-
50 ~
40 L] L] L ¥ Ll L]
1 2 3 4 5 6
Years

14.

15.

Which of the following is NOT true?

forer o e wEt T §-

(a) The rate for rural area was always more than that
for urban.

TTHTOT &5 R ST ITEL &1 | TR frek off)

(b) The total (aggregate for rural and urban) was less
than that of the rural.

TTHIOT 3] IR & T AT JTHIOT VT | 6T o4m

(c) There is a wide gap between the Infant Mortality
Rates of rural and urban areas.

TTHvOT We ITE 8151 ok 1Y) U X ok oo Sifren S ® |

(d) The trend of Infant Mortality Rate in terms of
increase or decrease remained the same for urban
and rural areas

oo e e 4t e S R e v o e
|

(e) There were ups and downs in Infant Mortality
Rates over the years.

wrgul o6 § 9] 4T <X H Wit 3aR Ted 9|
Production of a company over the years (in lakh
units)

T ST ARGt o ST STE (GTTH FhTE #) e §- s
60 -———— TS e
504
40
30 -
204
]0 B —

0 . ; v : ‘

1998 1999 2000 2001 2002

What is the highest percent increase over the
previous year?

gfeg % fuser a6 st gor ¥ fered et #)
(a) 266§ (b) 150 © 166§ d) 250

(e) none of these

Population of two states shown by a square and
circle respectively (Equal to area in lakh units)

T AAT g9 § 3 TS B AT Sl T T §-
14

What is the difference between the populations
of the two states?

AT TSl Rt AU W T 3T £
(a) 2800000 (b) 4200000
(c) 28000000 (d) 9800000

(e) none of these
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- Answer key
1. (c) 2. (b) 3. (c) 4. (a) 5. (e) 6. (d) 7. (c) 8. (e) 9.(d) 10.(a)
1. (d) 12. (c)  13. (d) 14. (c) 15. (b)

Hint & Solutions

1. 456

Initially, milk in the mixture :[7

litres and water = % x 5 =190 litres

J’_

><7j=266

Now, let the extra milk to be added be x litres.

266 +x _9
190 5
or Bx =190 x9 266 x 5

=1710-1330 =380

X :? =176 litres

Then,

(= 5.5 yrs)
~.2nd amount is lent for (9 —5.5 =)3.5yrs

9800 xrx9 B5700x3.5x3.5r
Now, +

100 100
or, 885r+698.25r =11061.75

or, 1580.25r =11061.75
1106175 _

r=—— =
1580.25

7%

the second train be y.
Now,

Adding these two equations,
2¢ =28+84 =112

x =56, y =28

Required ratio = 26 = 2 =2:1
28 1

pa. Then
x><5><(r+5)_x><5><r

100 100

or, bxr+ 25x —bxr =7250

x =259 R 290
25

=72.5

one day’s work be 4x.

(Rajeev + Rakesh)’s one day’s work = 2i8

or, Tx +4x = 1
28
or, 11x =i
28

Let the original rate of interest be r% per
annum. Given, 2nd amount lent after 1 months

=11061.75

Let the speed of the first train be x and that of

...(i)

Let the sum be x and the rate of interest be r%

Let Rajeev’s one day’s work be 7x and Rakesh’s

1
X =
28x 11
s ) 1 1
Rajeev’s one day’s work =7 x =
28x11 44

Hence, Rajeev alone can finish the work in 44 days.

Let the side of the square be a.
Then, area of the square = a?
a? =1764

a =42m

Now, breadth of rectangle = 42 x % =10.5m

Now,

Length of rectangle =5x10.5 =52.25m

Area of rectangle = 52.25x10.5 =551.25sq m

~.Difference =1764 — 551.25 =1212.75sq m
Total journey =199 km

Now, (199 -7) =192 km

The rate for this 192 km =Rs. 17 per km
..Passenger pays =192x 17 =Rs. 3264

But the passenger pays Rs. 3311

As the passenger pays Rs. y, for the first seven
kilometres.

y =3311-3264 =Rs. 47

Total marks = 525
56

Total marks scored by Govind = 525 x 100~ 294

..Marked scored by Govind in Subject Z
=294 -94 -133 =67
M =67

9. Let the speed of the stream be x kmph and the
distance covered by him downstream and

upstream be D.

Then, 3xD _ D
13+x  (13-x)

or, 39-3x =13+«

or, 4x =26

: x =6.5kmph

. Let the cost price be Rs. x

Selling price at a profit of 17%

17 17x
=x+xx—=Rs. ——
100 100
Selling price at 13% loss = x _13x = 87x
100 100
ow, 117x _87x _ 210
100 100
or, 30x =210 +100
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x = 210x100 _ Rs. 50 the rise in the line from the year 2000 to the year
30 2001.
11. We can’t get the absolute a amount of profit with Now, the required percentage increase

the help of the graph given.

12. Required percentage = 169
(169 + 245) x 100

=40.82% =41%

:40—15><100

= 25,100 =166 %%
15 3

15. The required difference (in lakh units)
:14x14—%?x7x7

13. (d)

14. The highest percentage increase is witnessed in
the year 2001 with respect to the year 2000. See

=14 x 3 = 421]akh = 4200000
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